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403 | 17 wI B/ B v 2 Wk 32kg K SERE FIEETAR
404 | 18 B R NS 2 Wk 3Tkg K SERE FIEETAR
405 | 19 B BX NS =2 AR 37kg kR LERE FEEAL
406 | 20 HHE IRR NS =2 sk 37kg R LERE FEBAL
407 | 21 FA & NS =2 Ak 37kg R LERE FEBAL
408 | 22 FRIER A5 NS =2 Bk 37kgl E LERE FEBAL
409 | 23 TH S— NG ES ik 37kgl Lk SEREE FEEAES
410 | 24 FE ¥l NS 7 i LERE FEBAL
411 ) 25 RE R NS 7 sk 35kgLl E LERE FEBAL
412 | 26 Fr =3 NG =2 B 40kgLl £ LERE FEBAL
413 | 27 e EA th2 3 Mk 57kgl E SEREE METADR
414 1 1 iR KB F 3 i LERE BEAREL
415 ) 2 T EE F£R 3 i LERE BEAREL
416 | 3 FH XF £ =2 i LERE BEAREL
417 1 4 FEHE HRE £R 4 s LERE BEARES
418 ) 5 A &4 N2 B s LERE BEARES
419 ] 6 = EK N2 B s LERE BEARES
4200 7 XE T N2 B s LERE BEARES
4211 8 B S N2 B s LERE BEARES
4221 9 Fr B N2 L= iy LERE BEARES
423 ] 10 B BE N2 L= iy LERE BEARES
424 1 11 TH EZE N2 L= s LERE BEARES
425 | 12 nEE A N2 L= R Sl LERE BEARES




426 | 13 Bl EE N3 B Hit LERE BEARES
427 ) 14 HE BEZN N3 B ek 30kgLd k LERE BEARES
428 | 15 WA B N3 B Bk 30kgLd k LERE BEARES
429 | 16 e HE N3 B Bk 30kgLd k 2ERE BEARES
430 | 17 AR BE NG B Bk 30kg K 2ERE BEARES
431 | 18 AR FHE N3 7 Bk E=R 2ERE BEARES
432 1 19 hE 23 NG B Hit 2ERE BEARES
433 ] 20 IR BB NG B Hit LERE BEARES
434 ) 21 AR BE NG 7 Bk 32kgLl k 2ERE BEARES
435 | 22 Z| KE NS = e 3TkgLl k 2ERE BEARES
436 | 23 B RE NS =2 ek YCES LERE BEARES
437 | 24 fo NS NS B Bk 40kg kit LERE BEARES
438 | 25 Hef ZTA LR 3] T2&—% (Q0~a98) | KT NTY R Y — R SELE REARE
439 | 26 By =A fint 14 % A=z Go~som) | X 7NT v b U—[  TBkgBAF LERE BEARES
440 | 27 hifg & e =] YRL—Z (40~49H) FK piiigyl SERE REAR
441 1 1 it R N2 =2 it 2EREHEN I
442 1 2 H)I AR /N3 ES i 2ERE AEANT -
4431 3 BB IBA /N3 B Hit 2EREHEN I
444 1 4 RH 2 /N3 B Hit 2EREHEN -
445 1 5 B]AR Bz NG B Hit 2EREHEN I
446 | 6 EHH O OFTRER NS 2 #0 S2ERE AERNT -
a7 ) 7 K5 Gl NS =2 Ay SEAEAENT—IL
448 1 1 #* WpE NG = Wik 40kg K it LHEAEE MM
449 1 2 Jgs fE& k4 =2 TRE—Z (A0~49HD) FK Fi ]l 2B MHHXE
450 1 1 T B2 N2 = #0 LHERE AREFT IR
451 1 2 T B N4 2 #0 LHERE AREFT IR
452 1 3 T Bk NS = #0 SHERE AREFT IR
453 1| 4 Tt HE NG 2 Wik 40kgRHE | 2ESEE KRESTXE
454 1 5 — /8 T NG 2 Wik 40kgRHE | 2ESEE KRESTXE
455 1 6 IR IRE F1 2 H0 LHERE AREFT IR
456 | 7 T mE 1l =2 Ay SHEE AREST X
4571 1 NS F£R S e LEREE PR
458 | 2 MR = S| 2 e E=7| LEAEE PR
459 1 3 BH E) NG = I 40kg K it LEAEE PR
460 | 4 HE LF NG = Bk 40kg K it LEAEE PR
461 | 5 A BE NG =8 EIR 40kg i SEREE PERAER
462 ) 6 ra RE 23 = Bk 57kg R LEAEE PR
463 | 7 KB KETE F2-3 = Bk 50kg K i LEAEE PR
464 | 8 wE AF k4 = TAL=Z (40~49%) FK 55kgit8 LEAEE PR
465 1 9 ke B iR 2 —f g7rTy U~ T5kgATF LEAEE PR
466 | 10 KB K B )4 3] —1 g7rzy by—|  T5kgdTF SEREE PERAES
467 | 11 He Ex ik 2 — GK 75kgi8 LEAEE PR
468 | 12 BE EE ik S —f GK 75kgit8 SELE PEAIL
469 | 13 BH st ik S —i& FK 75kg AR SELRE PEALL
470 | 14 'F =t ik S — FK 75kg LT LERE FERALL




